
         wc‡ivRcyi `viæj Dj~g evwjKv KIgx gv`ivmv 1445-46wn.
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Mo wefvM cÖvß ¯’vb

9 gvwiqvg L 20-30=11 69 46 47 162 81 gygZvR 1g

7 nvweev M 15-30=16 70 45 45 160 80 gygZvR 2q

10 gvwiqv M 15-30=16 65 47 45 157 78.5 Rv:wR: 3q

13 dvwinv K 16-30=15 65 42 48 155 77.5 Rv:wR: 4

14 Avqkv (1) M 13-30=18 60 47 48 155 77.5 Rv:wR: 4

3 ‡g‡nwiKv M 17-30=14 60 45 45 150 75 Rv:wR: 5

11 Rvdwib K 15-30=16 52 47 47 146 73 Rv:wR: 6

8 Avwgbv (bvwRicyi) K 13.10 c„s14-30=17.10 55 45 45 145 72.5 Rv:wR: 7

15 BmivZ M 19-30=12 53 40 48 141 70.5 Rv:wR: 8

1 jvwgqveU K 18-30=13 50 45 45 140 70 Rv:wR: 9

4 ZvKIqv K 17-30=14 55 40 45 140 70 Rv:wR: 9

16 Kzjmyg M 17-30=14 43 38 47 128 64 Rvwq¨` 10

6 ûgvqiv K 15-30=16 40 40 35 115 57.5 Rvwq¨` 11

2 jvBev L 11-30=20 45 32 35 112 56 Rvwq¨` 12

5 Zvnwmbv L 14. 15 c„s 16-30=15.15 35 45 45 125 62.5 ivwme 13

12 Avqkv (2) M 17-30=14 Aby:

cix¶v_©x 16Rb| gy:Avjv:00Rb,gygZvR 02Rb,RvtwRt 09Rb,Rvwq¨` 01Rb, gvKeyj 00Rb, ivwme 01Rb,Aby: 01Rb|

gy:Avjv= 90-100 (cÖ‡Z¨K welq) 

gygZvR=80-89              

Rvwq¨` wRÏvb=65-79     

Rvwq¨`=50-64          

gvKeyj=40-49                           

ivwme= 0-39
wndR: 20cviv MÖæc

                   2q mvgwqK cixÿvi djvdj
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